QUESTION BANK
CHAPTER: SQUARES AND SQUARE ROOT

QUESTIONS

How many non-perfect square numbers are there in bietween 2500

and 517 [2022-23]

Find V11025 by prime factorisation method. [2022-23]

(a) Find the least number which must be added with 7581 to obtamn a
perfect square Also find the square root of the number obtamned.
OR

{b) Find the greatest four-digit number which s a perfect square_ [2022-

23]

While arranging 33523:551311:5 ina garcjt; m such a way that each row
coniains as many plants as the number of rows, 9 were lef over. What
is the number of plants in the last row of the arrangement?

Also find how many rows are there in the arrangement” [1022-23]

Which of the followimng mumbers 15 not a perfect square? [2023-24]
Alﬁ_zﬂ B) 961 'E;]' 1024 D) 1222

o

V72 % /98="7 [2023-24]
A)42 B) 84 C) 64 D) 74

Find the cube root of 729 [2023-24]
A7 B)-9 C)9 D11

Find square root of 7744 by pnime factorisation.
OR
Find square root of 162 by repeated subtraction method.  [2023-24]

Find the least number of that must be added to 15370 tomake it a
perfect square” Also, find the square root of the number so obtamed.
[2023-24]

10.

Find the square root of 2 correct to three places of decimal. [2023-24]

11,

How many non-square numbers lies between 100%and 101 7

(a) 100 (b) 150
(c) 200 (d) 250 [2024-25]

iz,

Which of the following 15 a Pythazorean mplet?
(2) (2,3,5) (b) (5.7.9)
(© (69,11) @ (81517) [2024-25]

14,

V0.8 x V16 =7

(r)0.12 (b 1.2

() 0.75 (d) 12 [202+-25]
In a lecturs hall. 8.649 students are sithing in such a manner that there
are as many students 1n-a row as there are rows m the lecture hall How
maity students are there 1n 2ach row of the lecture hall?

OR
Find the least number of six digits which 15 2 perfect sqguare. Find the
square root of this number [2024-25]




15 Which of them is a perfect square? 1
a) 576 DbJE41 )65 djnone

186 Which of the following is not a pétff-:t square? 1

a)62500 b)57600 ¢)90000 d)63147

17 which of the following will have 4 at units place? 1

ana’  pe2t ey dns

18 By observing Tfe digits 3T ones place tell which of the following can be perfect squar(
a)lo0 bj927 <625 d)576

13 If ane number of the Pythagorean triplet is 2m then the other two are |
alm,m'+s1  bm'slm’r  gmmsr  dim,m’

20 How many natural numbers lie between 5%nd6™? 1

a9 bjpo i1 dj12

21 Which of the following is the square root of 70567 1

a)BE  b)34 )54 d)B4

22 Which of the following is the square root of 70567 1

alj86 b)34 )54 d)84

23 Find the squares of the following numbers. 2
25 )30 dip2

24 Find how many nan-square number fie between the following pair of number| 3

1)100 and121 ing*and o* iii)30°and31’
25 Can a right le with sides 6cm, 8cm and 10cm be formed, give reason, | 3
26 Find the square roo following numbears Dy repeated su 1on methol 4
)9 W21 225 W)196
27 Find the square root by prime factorisation 4
i)64  §i)289 ii}36 Iv)1764

25 Find the smallest number by which 147 must be multipliéd so thal it betomes 3 perfect squail 4

tiso, find the square root of the number so obtained.

29 A PT teacher wants to arrange maximum passible number of 6000 students in 2 fisld suchthi 4
the number of rows is equal to the number of columns. Find the number of rows If 71 WEI':]
out after the arrangement.

30 Find the square root of the following by the long division method. 3+343=0
112544 197344  1iil18225

31 Find the least number which must be subtracted from the following number to make it perfe. 3+3=6

square  1]2361 H)1E265

32 Find the least number which must be added from the following number to make It a perfect | 3+3=§

_ square 1) 4931 il})5607
33 Find the greatest number of 4 digits which is a perfect square. Find the square root of this 4

number,




34 1225 plants are ta be planted in such a way that each row contains as many plants as the| 4
number of rows. Find the number of plants in a now.
35 There are 500 children in a schoal. Fora PT drill they have to stand in such a way that number of 4
rows is equal to number of column. How many students are left out of the arrangement?
36 Find the square root of 3+2
324/881  i)as
a7 Find the square root of the following numbers in decimal form 3+3+3=9
i) B4.8241 ii) 000559049 iii}225 . 6004
38 Find the side of square whose area is equal to the area of rectangie with sides6.4m and 2.5 3
EE) The area of square playground Is 256.6404 square meter. Find the length of one side of the 4
playground.
40 Find the length of side of square if the length of adiagonalis10cm. | 3
41 By what smallest number should 216 be divided so that guotient is perfect square. Also find thl 3
rjuare root of quotient,
42 The product of two numbers is 1575 and their quotient is 9/7. Find the numbe 2
a3 If y = 5, then the value of 10y J_;.E ~y2 s
% y=5%F, @ 10y y* — 32 1 7 -
(A) 2500 (B) 500
(1005 (D) 50
a4, The area of a SjLar: field 15 B084 m> A rectangular field, whose 5
length is twice its brendth, has its perimeter equal to the perimeter
af the square field: Find the area of rectangular field.
W AT HA ) AEA G084 m® & UH gAEN @A W) A aEel
HI=E & S P e WA w Ve SER @9 F qhen oaE
# aeEER ER W EEA A Siam)
45, 1 5
Find the square root of 135 correct to two places of decimals.
13% F OEENE W S THE A% HEl am @ Eian)
46. Two consecutive numbers are given by ‘a’ and ‘n — 1. The difference 1

between their squares is

= wOPE WE, n T 0 —1 80 = T S1 399 991 % | # HW B
(Al 2n (B) -1

(Cr —1—2n M) 2n+1




47.

An army officer wishes to draw up his 38581 soldiers n the form
of o squore, After arranging them, he found thal ssme of the
roldiors nre left out. How many soldiers are loft our 7 How many
soldiers were arranged in the form of o square. Find the number
of soldiers in ench row

o At @ @ 36581 Afm W ww A F w1 0w s =
#1 3% wElEs w6 W We TR W fEogm Atw oge T f fee
A w2 7 ferd ARl 1 W A @ &9 W oaEiEE e T 7 e
Wi A #@fE w1 dEn Fw wiau

Find the amallest 6 digit number which iz o perfeet sgunre. Find
the square root of this number,

€ Sim W BE-A-wE wEn T o oW o oW owowm e
e s O 1 1




QUESTION BANK
CHAPTER: CUBES AND CUBE ROOTS

a}9261  b)=—9261 c}—2961 d)—9216

SLN QUESTIONS MARK
6. .
L Evaluate: 3/(—125) x (—216). [2022-23] 1
2. Write the greatest two-digit perfact cube number. [2022-23] 1
3. (a) Find the smallest number by which 6730 be divided so thatthe | 2
quottent will be a perfect cube.
OR
(b) Find the smallest number by which 6125 must be muluplied to
obtain a perfect cube, [2022-23]
4. =15 2
Evaluate: |2 [2022:23]
5. | Find V175616 by estimation [2022.23] 3
&. Find the smallest number by which 2560 must be multiplied so that the | 2
product 1z a perfect cube [2023-24]
7. Evaluate: /3375 x (—729). 2
OR
Prove that if a number 1s tnpled. then its cube 15 27 umes the cube of
the given number. [2023-24]
8. Find cube root of 15625 through estimation.  [2023-24] 3
3. V0.027 — 30.008 i= =qual to 1
(a) 1 (&) 0.1
(e)0.11 (d) 0.09 [2024-25]
10, Cube of 0.1 15 equal to 1
(a)1.11 (b)0.001
(e)0.101 (d)0.01 [2024-25]
11 Find the smallest number by which 2360 must be multiplied so that the | 2
product 1s a perfect cube. [2024-25]
12, Find the cube root of (-2744) by prime factorization method. 2
OR
30512
md ’ [2024-23]
0.343
13 Find the cube root of 15625 through estimation. [2024-25] 3
14 Thecubeof 11 s 1
a)1331  b)3113 1313 d)3131
15 The number of zeros in the cube of 1000 1
a2 b4 9 4o
16 The cube of [-21) is 1




17 The cube roots of 63x73 is 1
a)216  b)—42 M2 d)—216
18 The cube root of :4:% Is 2
alg b-+ ol 4l
19 Given that Vx = —6 then xis 1
a216  bj18  ©)—18 d)—216
20 Given that 512=8", 3.375= 1.5, find the value of V512 x V3,375 1
all2  bBs ¢i8 dils
21 Write the cubes of all naturs! numbers between 1 and 20 and verify the following statements 2z
) Cubes of all pdd natural numbers are-add,
b} Cubes of all even natural numbers are even.
22 Write cubes of 5 natural numbers which are multiptes of 3 and verify the cube of natural 3
number, which is muitiple of 3 is multiple of 27.
23 Write cubes of § natural numbers of the form 3n+1{e.g. 4,7,10) and verify that the cube of 3
riatural number of the form 3ne1 s natural number of same form.
24 Which of the following are perfect cube 2
i)1728 ii) 106480.
25 Which i the smallest number by which 392 must be multiplied so that the product is a perfect 3
tube?
26 If one side of 5 cube s 13 metres, find its valume, 2
7 Find the cube roots 2424242
1343 1000 §ij2744  vj74088  v)125 +2=10
I8 Wultiply 137592 by the smaflest number 5o the product is 3 perfect cube and also find the cube 4
oot of product
29 The volume of a cube is 343 cubic metres, find one side of cube. 3
30 Find the cube root of rational number 4
i) -64/729
ii) = 343/-125
31 Divide the number 26244 by the smallest number so that quotient fs a perfect cube, Also find| 4
the cube root of the quotient
3z The volume of cube 512 cubic metre. Find the length of the side of the cube. 3




33 Which of the following are cubes of a negative integer 3
I—64 )—2197 lii}—1056 iv}]—3BES8.
34 Find the cube roots by prime factorisation 3
1J125 i)—5832 i)—1728.
is5 Find the cube roots of each of the following humbers 424242
i)8 X 64 ii}—216X 1728 iif)27%(—2744) +2+2=1
iv) —125%—3375 v)—456533 vi)—5832000
36 Three numbers are in the ratio 1: 2:3. The sum of their cubes is 972. Find the numbers, | 3
37 Difference in two perfect cubes is 189. If the cube root of smaller number is 3. Find the cube 3
roots of the larger number,
38 3 3 = 4
Evaluate [128V3218
39. The least possible value of k" to make 90 x k a perfect cube, is: |1
90 x k ® i w9 WA & fem koW e wva WA B
(A)  B1OD iB) 81
(300 Dy 3
a0, Find the cube rool of 176616 and use it to find the value of : 3
V176616 + (0175616
178616 =1 =AA We w1 s sEr 175,618 - 40,175616
W owm T W e
4, The value of ¥0.125 - 30,064 is 1

¥0.125 - ¥0.064 1 WA -

(A) 0.001 (B) 0.46
(C)  0.009 (D) 0.1




42,

Read the comverention betwoon Hoghovi and Stoumd ¢

What do you think ? Is Simmi correct with her statement ? Justify
your gmswer with an exsmple,

mE qw fEE F oA e e

o W B o s ow e =R 9 T 57 Smerm wnim

A1 mmi, oo

43,




QUESTION BANK
CHAPTER: ALGEBRAIC IDENTITIES

SLNO | QUESTIONS
L Find the value of (V3 — VZ)(V3 + V2) using suitable identity. [2022-
| 23]
2. (a) Factonse: 64x° — 81y*
OR
| | (b) Evaluate (19.9)2 using suttable identity.  [2022-23]
3. | Find the product using suitable identities: {x +=){ x— (x> +—){ x* +;1.-1.
2022-23]
4. fa) Factorise the expressiom 12— y2 + IT + 2xy—yz —Zx.
Hence verify for ¥ =$. y= % andz= L
OR
a4 _ i i 5 1
(b)yTFx2 s 27, find the value of (1 = ;) und(n + :_*)'
[2022-23]
5. A side of the squars with arsa (4x° + 12x + 9) square units is
A) (4x + 3) units B) (4x + 9) units
C) (2x + 3) units D){x + 3) units
[2023-24]
. Assertion(A): If ¥ += = 8_ value of x* +— is 62
Reason(R): (a + b}: =a* + b
A) both A and R correct and R 1s correct explanation of A
B) both A and R comrect but R is not correct explanation of A
C) A 1= true but B 15 false
D) A is false but R is true. [2023-24]
[ | Factorise: x° + 2x — 24 [2023-24]
8. | Factorise: x* — 256. [2023-24] 3
9,
i . 23%2.3-0.3x0.3
Simpdify: 2,3M23-2x2,3%0.3403=03
OR
Ifa —= = 5 find the value of (i) a® +—.
(i) a*+= [2023-24]
10. (x +5)(x—3) =7 [2024-25]
(@) x= + 5x — 15 (b) x* —3x — 15
() x*+2x—15 (dy x4+ 2x + 15
11. LIPRE L | O, 25
G+ E=3)= [2024-25]
1 1 1 1
@ (&) ® (F+3)
1 1 1. 1 1 1
@ (F+E-5 @(F-7+3)




12. Assertion (A): A side of a square with area (4x® + 12x + 9) square 1
units is (2x + 3) units.
Reason (R): (a—b)? =a? —2ah +b?
(z) Both Assertion (A) and Reason (R) are true and Reason 1s the
correct explanation of Assertion(A),
(b) Both Assertion (A) and Reason (R) are true but Reason is not the
correct explananon of Assertion (A).
(c) Assertion (A) 1s true but Reason (R) 1s false.
(d) Assertion (A) is false but Reason (R) is true [2024-25]
13, Expand: (—x + 6v + 4)° 3
OR
Ifxl+ 'i = 51_ find the value of 3% — .i [2024-25]
1. |1fa+2 == find the value of (a —=). [2024-25] |5
15 A statement of equality which holds for all the values of a variable 15 known as 1
a)identity blexponent  cjradical dipower
16 Thie process of writing a given algsbraic expressians as product of 2 ar mare factars is known as 1
ajdentity  bifactordization  clfactor dinone of the above
17 Factorised form of 9x*+30x+25 is 1
a)(3x+5)(x+5) b{3x+SF  c){3Ix+5)(x—5)  djnone
18 Factorised form of 3°—7a+12 is 1
a)la—3e—4)  bila—3Na+d) cfa—3)"  difas4r
1a Dne of the side of a recunﬁe having area Y +0x+18 Q. Cm is ufiiiiﬁn the other side is 1
aj(x+3)  biixs6)  Olx#3)"  djnone
20 Find the following using identities 4
ii2xry)* ii){2x+3y)* fiij2x—3y)* iv){6x—Ty}*
21 Evaluate the following using Identities 2424242
Nozf o3’ aesz)” w)s8F  wi7B)Y  wij(xo9z) +2+2=12
22 Find the product using identities A
N6 =7y} (6x"+7y") iil2a+3/b)(2a—3/b)
23 Simplify the following products by expressing them as difference of 2 squares. 3
68x72  iij101x92  ilETx 73
a4 Evaluate the following using Identities 2

e —(18y"  H)410)°*— (390)°




25 Expand the following 4
i)(4a—6b—3c)* il){2x =3y—5)*

26 Find the product by using suitable identity 2
1}{x+3){x+6) iify—a)y—12)

IT Evaluate by using suitable identities 3
i}a5x 105 iij1.Bx2.2 iil)3436

2R Evaluate the following products 2+2+2=6
Diy*+12)(y"+86) i) «d)(x"+9) i) {x+1/5)(x+5)

29 Factorisation by using identities 2424242
ijaad -6y’ 1184a'51020"s646" i) 25049~y =10
Wy 4257 —duy 10y2 420y vj121b'—8Bbe—16¢"

ETS) Factonse the given expression 3+3+343
ip-5%-36 iijy —y—a2 i) ¥-2-35 +3=15
iv)x*+ 7x—60 vy =12y +8

31 Find the value of y +1/y’, If y+1/y=12. 3

32 Factarise { | +m)*—4lm 3

33 Factorise i)25x'-1—2y -y’ i)4a’- (b—c’) 3+3=6

34 If x+1/x= Sthen find the value of x's 1/x’, 3

— Square of the polynomial (0.2x — 0.5y) is : 1

TEW (0.2¢ — 0.5y) & 7 F-
(A)  0.04x* — 0.25y°
(B) 0.04x* + 0.25y" + 0.2vy
(C)  0.4x7 — 0.25y% — 0.2xy
(D) 0.04x" + 0.25y" = 0.2xv
36. 2

Factorise the expression :
SAiqeta F OUEEET H—
=2 (x+y) + x+yF = 143




37.

The value of (3907 — (310)° is :
(3901 — (3100 =1 7 -

(A BBO0O iB) 6400
(C) 64000 (D) 56000
38, If the volume of a rectangular box (cuboid) is (2vg” — 2xh%) cubic
units, then possible dimensions of the box are :
o U IR WE () WA (207 - 246%) W F=E E A
wfaa g # -
(A} 4dx, @ + b), (o = B) B) x, (2a + b), (20 - b)
(C) (2Zea + &), (Zxa — b) (D) 2y, (g + 5L, (g — &l
. . a+2 .
What is the value of 5 if,

rs*a = (4rs + 88)° — (4rs — 38)* ?

a+ 2
5

réa = (drs + 350 — (drs — 3s)* 2

w1 WH R, af




QUESTION BANK
CHAPTER: PARALLEL LINES

SLNO.

QUESTIONS

(2) In the figure I [| m-Find ¥

OR
(b) In the figure line AB ||CD and line EF is the transversal. if
£EPB=50° find #PQC. [2022-23]

-

c _:"/“:' o
= -

In the figure, if AB[PQ. find the value of y . [2022-23]

B @

. In the given figure. if AB|DE. #BAC=35° and ~CDE=33", find
£DCE. [2022-23]

A -

s (\\

D . E

If two parallel lines intersected by a transversal then pair of alternate
internor angles are-

A) equal B) supplementary

C) complementary D) none of the above
[2023-24]




In the given figure, AB|PQ, find v [2023:24]
; 3

B Q

A) 59° B)121° C) 118° D) 1187
&. In the grven figure, if line m || line n and line p 1s a transversal, then

find x. [2023-24
7. In the grven figure, show that {a) AE || CD [2023-24]

-‘-7' (b) EF || CD

_éﬂ:'r,/’-i_“ (c) EF || AB
g e

e In the given fisure, #OAB = 110" and #BCD = 130", then #ABC s

equal to [2024-25]

= o
A P y
- : =
= 19 u""'_‘.'\[ . 4 1307
\*%/
8

(a) 40" (b) 50°

(c) 60° (d) 70°
g, Hmln_ thenx=

(a) 107 (b) 20° (c) 30° (d) 40°

(5x+35)°
) A
e Tom
450
- ‘, o > &
[2024-25]

10. In the following figure [ || m, if #1 = 55° find £2, £ 3 and 4.




m % //4
[2024-25]

In the given figure. show that
a) ABJCD bl
(b) EFCD S e F

OR
Find the value of k if~#1=150% k_and
£2=60"+kandl || m [2024-25]

-+ Al * |

2
3

— -

Two parallel bnes | and m are cut by a transversal t. If the imtenor angles on
the same side oft are (2x~8)" and (3x—7)". find the measure of each of
these angles [2024-25]

If tweo lines fie in the same plane and do not intersect each other are called

a) parallel b) oblique cltransversal dieguidistant

14

Which of the foliwing are net somrect aboul twg mralisl lines?

o) they lie o the siame plang bjthey intesec sach ather clil they are cut by transyersal
tran pair of correspanding argles are squal, diif they &rm mut by tranweeesal than alterrate
InteHioE Sty St egiuz]

A line segment can be divided Internally in the given ratio by constructing
alangles  bjparallellines  c)perpendicular lines  djnone




156

I the given figure which angles are equal?
4 /7{\ 1

P

alland2 k)2 and 4 el and 4 dinane

17

Aline a makes an angle of 30" with line b, also line © makes an angle of 30"with line b. Then
a] line @ is parallal to linec

bj line 2 is perpendicular to line b

) Hine a paratiel to line b

) Hine-z is perpendicudar to ing c.

18

If a ranswersal intersect 2 parallel lines | then each palr of corresponding angles are
aparaflel  blperpendicular clequal didifferent

I¥ two parallel ines nfersectad by 3 transversal than pair of alterfate interlor angles are
aleaual bjsum of 2 angles £ 360" cloomplementary dlsupplementary

20

A line that intersects 2 lines in different points is known as
ajangles bjtransversal lines tjvertex d)parallel lines

21

ir the Tigure &A' || €O The sizew of angie A'AB i ecual to 135 and the siie £ of 2CCB i agual
L 247" Find Uhie sABC

in the Tigure fines 44" and CC ore parafie). 49 is the bisegtor of £ GV ano BC = the Bisector
of LACE™. Show that £ABC s 9T,

A A @

- C =

Lines m and n are parallel find 2y

b

m i |

65"
; X7




24

In the zdjoining fgureling | iz peraliet o m s cul by trancvereal, 11 21=70" find the messurs of
argle-3, Sand 6,

;\2 g
A\}( i &
A
q - M
a\{?

25 In the given figlre A8 is parallel to CD 2 BEO= 1207, £CFO=40" Find the LEOF,
A E B
___________ ¥
C F ]
26 In/the given Tigars AR is parallekte CD | |EF and AF is gérpandicular to AB, slso 2BAE- 807, Find
e values of angle x, v and &
27
Fo7 G
f
EA3 i
38
m
L
X l'{ L
it I & A=y 28 = 3g thees tie pngles on the sgrme dde of the brensversal then find the wabue of «

and mexsurms of each anple.




n in the figure It AB.is parallel to OF, ZABC=55"and ZC0E=160" than find the measure of £ BCO
A
31 Twa lines | and m are perpendicular to this same ling n, what is thie rélation between ling | and
m, give réason for the answer. =
3z In a figure if OF Is parallel 1o RS, 20PQ =110 and £0RS =130" than find 2POR
R 5
33 in the figurs 2 s transviérsal 1 linne mand noand £2 51200, #5=R0" Prove that mls paralial tnn
P
. ,f/é
A
af 3
£z
=
34 A and 80 are blsectors of two altemate intariorangles formed by the intersection of
transversal and with paraliel lines | and m in the given flgure. Show that AP is paraliel to 80,
| / A
P a
m i
3s.

In the given figure, AR || CD if PR is the bisectpr of JEPRB,
SEPR =12 + 1517 and #PRD = (2e + 53007, theh the value of x i

foo o o & AB I CD &, 9% PR, ZEPE ®1 sWipse® &, Z/EPR = (3
+ 15)" 37 ZPQD = (2v + 50)° 8, @ x F AW 5-

(A, 10

(B 15 ) h
© W A '
D &

el
A




37.

In the given fgdes, I 0w 11 4, which of the following iz not true?

@ vE wef A (| lm |0, Frefefes § @ $how o 9 2

A) L8 =Le=J4

B Le=oe il

(C) Ze + £f = 180" -"ﬂ\<f
] > i
. i

s

L
L

In the given figure, AB || CI) and ¢ is the transversal. The angle
bisector of interior angles intarssct at P Prove thut ZEPF = 80°

% M sl 4. AB I CD 50 ¢ vs s T . sois s R osm
wfearss P W oweww S0 §1 fam $ifsn & ZEPT = 908 1

g

A E :
5

— -t

C Ly D

B X L m x4+ ¥ o

(&) 140F

« +
(B) 2200
oCyo1s * "

(35" <




35. In the given figure, [ || m. The value of %' is :
A s W, e @ ox T OWA W ORI
(A) 50 /' g
(B) 45° ? ™4
(©) 40° '
(D) 130°
« >
EG"v
40, In the given figure, AB || CD |l EF. Find the value of v -x
F O s 4, AB Il CD || EF. y—x F1 WH 76 SiEw
‘ﬁ P H..
) e +46)" '
idr+ 15)"
E! RN o+ 3207 U=
12y — 18"
:E 7y E':
a1. In the figure given below, AB || CD with #BAM = 36° and /DCM

= 54% Find the measure of ZAMC and reflex ZAMC.
4 mosppfa 4, AB | OD Brd SBAM = 360 dh /DOM = 540§

ZAMC = ogyEETn CAMO W) ou am o st
o

B Az




PREVIOUS YEAR QUESTIONS
CHAPTER: DIRECT AND INVERSE VARIATION

SLNO. | QUESTIONS MARKS
1 Find the value of k 1f v and y are in inverse vanation:  [2022-23 i
x 52 k i'
| . - v 35 28 )
2. {a] Orangzes cost Rs 72 for three dozen 11 a super market. What
15 the cost of exght oranges?
OR

(b) If 13 men can repaira road in 24 davs_then how long will it
take nine men to repair the same road? [2022-23]

3. In a camp. there is enough provision for 300 students for 30 days. If | 3
100 more students join the eamp, for how many days will the
provision lasts?  [2022-23]

4, A train 210 m long tock 12 seconds to pass a 90 m long tunnel Find | 5
the speed of the train. Hence find how much time will it take to cross
a platform 790 m long? [2022-23]
% Which of the followng is correct statement? [2023-24] i
A) If x and y are in direct proportion. then 1/y and 1/}, are in direct
proporiion

B) If x and v are in direct proportion. then lf:t- and If:., are in Inverse
propormon

C) If x and y are in direct proportion. then 1/ and 1/, neither in
direct nor 1n inverse proportion

D) If x and vy are in direct proportion. then 1,!1 and 1;‘}, are
sometimes 1n direct and sometimes in inverse proportion

[ If 18 dolls cost 2 630, how many dolls can be bought for 4557 2
[2023-24]
7. If 15 men can do a work 1n 12 davs. how many men will do the same | 3
work e 6 days?
OR

Atrain travels 112 km in 1 hour 30 minutes with a certain speed.
How many kilometres it will travel in 4 hours 45 minutes with the

same speed? [2023-24]
8 A garnison of 120 men has provision for 30 days. At the end of five 3
days, five more men jomned them How many davs can they sustain
on the remaining provision? [2023-24]
9. | Two gquantities X and v are m mverse proportion. Then if v is doubled, | 1
% becomes [2024-25]
{a) one -third (b) halved
..... | (c) two-thued - _ (d) doubled ,_ﬁ_..
10. If 12 men can do a piece of work in .20« dzws how Iﬂ.ﬂ_ﬁ will ittake 40 | 1
men to do n? [E'DZ—I—._‘!]
(a) 12days (b) 6 days

| (c) 40davs (d) 16 days




11. How long will a train_ 120 m long_ take to cross a platform, 130 m 3
long, ifits speed is 50 km/hr? [2024-25]
12, There is provision of food for 50 days of 1000 soldiers in a fort How | 5
many soldiers should leave after 15 days so that the remaining food
last for 40 days? [2024-25]
13 If A can finish work in n days then the part of work finished in 1 day is 1
all=—n b)1/n cin—1 djnone of these
14 itan increase in guaniity bring: about coresponding decreasy in tne other and vice-versa than 1
thie twas Uiy vy
ajdiractly bjmversely cisometime directly and samerime inversely  dinone
15 If speed is more than time to cover a lixed distance would be less. This is case of 1
alinverse variation  bjdirectvariotion  cinone of the above
16 il 2 amid i vary inversely, Thin wing the table the value of = fory=10 i i
x 3
T
a) i hi40 cjis  di20
17 A tezin s running a1 a speed of 75 kmfhr, What distance will it coves in 20 minutes i
2)18km  bR20km  c)23km dj25km
18 In direct proportion y=k », f =3 wien y=9, what s @ostentof proportiorality k= 1
anT B3 £].333 djnonge of these
15 nn idirect-properton y=hx , w=d wheny=32, whet is ithe constang of propoiionaity ks i
af bl ez djos
0 A ezr travale Tdkm in 25 minitec Fed aut how far ths car trave il (n S Raor IF the cpoad remalat b
....,_. i the same-
21 It 15 wirkivrs ean findsh ok in 43 hours Celoulate the pumbee of wotcon fequlred 16 tornplate 2
the s task m 30 howrs,
22 If cost of 16 apples is Rs160.Calculate the cost of 14 apples. 2
23 If x varies inversely as y and x=20 when y=600, find y when x=400. 2
24 The varfable % varles directly asy and x=80 when y=160. Find the value of y when x =84, 2
25 Ina camp, there is enough flour for 300 persens for 42 days How long the flour will st if 15 | 3
fmare people join the camp.
26 Acantrockr underiook 3 controct to complete 2 part of stadlum in 3 manthe with 3 team of 3
560 workers. Later on, he wa required (o complete in S marrtes. How many sxrs pErson
_ stiould he employ 10 cemplete the stadim?
27 Geeta types 108 wordsin & minutes: How many words would she type in half an hour? 3
28 It is given | varies directly as m e

il write an equation which relates | and m.
Ii} Find the constant of proportion (k) whén lis 6 then m (s 18
) find | when m is 33,




if deposit of RsZ000 2arms interest of 5300 in 3 yeas, how much interest would & deposic of
Ha3R000 &arn i 3 years ab the ssme rats of simple interest 7

30 Thie meass of aluminum rod workss disecty with ity length. i 8 160m lang tod hiss a masz of 192
Find the tengih of rod whose mass s TO5gms
3 IF Maresh wolks 150 steps to cover a distance of 200 Find the distonce trovelled In 350 dheps
32 & car traveles distance of 225km n 25 lrres of petrol. Heow many Hitres of petml will be requirsd
to cover @ o statice of 5a6 km by this car?
33 13 ang buariesipveesely to pach other, then find the value ol g, gnaY.E
il
a 2 ¥ f 10
b ' 125 |15
i)
a G B (] 25
b 18 f L r
34 it the 25 metres of cloth costs As 337.50 then
il what will be the cost of 40 metres of the same type.of cloth?
1) whar will be length of the cloth bought for fis 675 7
35 A swbmaning ool can Be filled (n 8 hours By § pumps of same type. Haw masy such pum ps ars
raguired I the pool s 1o be fillad ln J% Heyd
36 A1 o particular time, the iength of snedow of Minar whaoss height s 72 meis BOm, Winat will be
the haight af an electric pale, the length of whose chadcw at the same time is 100m?
37. o and & vary directly with each other for constant of variation 1.4,
if @ = 28, then the value of b is :
o 7 TR F owen meaw §osew frem 14 &% fau, oaf
a=28F T bhH AT E-
Al 0.2 1B 20
() 392 (o2
38.

A parrison of 132 men has provision fﬁr EB days. In the beginning
ol fifth day, 12 more jomed them. How many days can they sustain
o' the remaimng provision?

132 wmrhel +1 T TwEr o vA 28 & o 9 T e T oW amem
H, 12 3 7 S mhE A o we o Ao g e e
T T e wme




Deep starts his jouwrney to o ocertmin place by oor at 8 ame and
reaches the place at 12 noon. The speed of the car is 60 km/he
If he increases the speed of the car, be oon reach the destination

ot 11:00 am. What should be the inervased speed?

5Y qa 800 % FN A um By wm & fow wv oww o s
3 s dEr 12w a8 wm o owdem B owe w1 R eo L of e
Bl ol =55 ww oW o owwm %, A 9F HEs 1L A sl W WS swA
% wE 7 nfa W owEn =men?

A woman ean do g piece of work in 30 davs. The part of work that
she can do in 12 doave 18-

us WEen U @MW w30 T 9w =% wwA §) W % 9% Fe A
e 12 f A qo o= wEA #-

1 3

(A) i (H» i
1 2

C) = { =
() 3 m 5

41,

A builder with a man power of 3890 men can eomplete o work of
canstruction of a building in 8 months. The owners asked the
builder to ecomplete the job in 6 monthe. Find the strength of man
power increased by the builder to complete the job in given time.
400 W = T T uw fGes wwm owmwm & Fmim s w8 W
H 70 3% T R wew T fe oW 6§ wmoqu ose &
w5l HU W wEE § W [ FE h o Wesl g 9ErE R oaEwiE
& A s

A train 380 m long is running between Delhi to Mathura at a speed
of 72 kmv'he How mueh time O seconds) will 6 teke o cross a
160 m long bridge ?

380 T T T fEvnel fTeel | W & oam 72 e oafa w2 w1 T
A dg W ¥ 160w FR T w W w6 39 e @ (e d)
=m?




QUESTION BANK
CHAPTER: PROFIT, LOSS & DISCOUNT

SILNO. |

QUESTIONS

L

An article is marked at Rs 940 If it is sold for Rs 799 then find the
discount percent. [2022-23]

2.

Manjit bought an iron safe for Rs 12160 and paid Rs 340 for its
transportation. Then, he sold it for Rs 12875 Find his gain percent
[2022-23]

A dealer allows a discount of 16% to his customer and still he gains
5%. Find the marked price of the product which costs him Rs1200.
[2022-23]

{a) John sold an article to Peter at 20% profit and Peter sold o to
NMichan at 3% loss. If Mohan paid Rs 912 for the article; find how
much did John pav forit?

OR
(b) By reducing the selling price of an article by Rs50, a gain of 3%
turns into a loss of 3% Find the original selling price of the amicle.
[2022-23]

1: An article was sold for 1596 at a gam of 12%. then 1ts cost price

was- [2023-24]
A)1230 B) 1425 C) 4567 D) 7890

Assertion(A): The marked price of a shuirt 1s 940 and the shopkesper
allows a discount of 13% on it. Then the selling price of the shirt wall
be T799.

Reason (R): to find SP. when MP and Discount % ts g1ven, we use
the formula:

100 — discount®
SPE=MP X ( )
100
A) Both Aand R are true and R 15 the comrect explanation of A
B) Both A and R are true but R 1s not the cormrect explanation of A
C)A 15 true but R 1= false.
D) A is false but R is true. [2023-24]

A shop named RAVI ELECTRONIC CENTER where different kinds
of electronics goods available. One day Ravi the shopkeeper sold a
watch for T 990 and made a profit of 10%. He sold a radio at same
price and suffered a loss of 10%. At the '
dav end he sat to check the total
transactions,

Answer the questions given below
based on the above information:

1) What is the cost price of watch?

A)Z 900 By 930 C)F
10000 D) 1100

11) What 15 the cost price of Radio?
A)Z 000 B)Z 1050 C) 3 1000 D) Z 1100

111) Overall. how much Ravi losses on that day? [2023-24]




OR
Find the selling price of radio 1f Ravi wanted to get 5% profit?

If the cost price of 10 greeting cards is equal to the selling price of §

greeting cards. find the gain or loss percent. [2023-24]
OR

Manish sold a watch at 3% loss. Had he sold 1t for T 104 meore, he

would have gamed 8% Find the selling price of the watch.

Rohit purchased a jeans for T2000. He zold it for T1800. Then loss
percent is [2024-25]

&) 10% b) 15%
c) 20% d) 30%

10.

Dhscount 1s always calculated on [2024-25]
(a) cost price (b) marked price
(c) selling price (d) GST

11,

Prit allows 8% discount on the marked price of the suits and still

makes a profit of 15%. If her gain over the sale of a suit 15 Rs. 156,

find the marked price of a suit. [2024-25]
OR

Nidhi purchased two sarees for Bs. 2,150 each. She sold one sareeata
loss of 8% and the other at a gain If she had a gam of Rs: 1.230 on
the whole transaction, find the selling price of the second saree.

iz,

On a season sale. Raghav sold a watch for Bs. 990 and made a profit
of 10%. He sold a radio at the same price and suffered a loss of 10%.

Based on the above information answer the following question:
1) What 1s the CP. of the watch?
i1) What is the C P. of the radio?
111) Find the total CP. of both the ftems.
OR
u1) Find the total S. P. of both the 1tems. [2024-25]

[

The profit which a person earns on selling of an article is
a) CP+S.P B)SP-CP c}SP+CP  dinone




14

Geeta hought 12 pens for 240 and sold them for 300, wnat Is the percentage of profit she
file?
aj0%  bB2s% clalne dinohe

15 Bam bought & balls for RS0 and sobd tham for Bs 40, find the perteatagn of lots he meurned
afson  bj2o% elis% 7o,

16 The discount by the shopkeeper Is given on
ajmarked price  blcost price  ¢c)selling price  djnone

17 Amit bovsht o televisinn for B 30,000 and 188 GET was charged on it How much ameunt doss.
nE pay for the teewsipn®
#3500 L8000 <Ja0.000 )25, 000

18 Loss is always calculated on
ajcost price  bjselling price c)marked price  d)GST

18
A boy buys 10 apples for Rs9.60 and sells them st 11 for Rs12 Find the profit percentage.

20
If the cost of 20 chairs be equal to selling price of 16 chairs, Find the galh or loss percentage.

21 Shyarm old his motor eyelg to fzvl ata los of J8%. Bavl ipant RE1GB0 on (o repside-and cold the
maororcycle 1o Hitesh for /535910 thereoy making a profit of 12.5%. Find the cost price of the
mptar eyelis.

22 The rearked price of 2 catling fan iy Rs 840 During off seasen Tt was sold far Rs 780, Find the
percantage discourit,

a3 A lady shookeapar. allovs her cuttornan 103 discount an the marked price of the good: and gl
gris & prolit of 25%proht, Whit 3 the cost arice of the good lor her marked ot s 12507

24 Rita had purchased a coat for RES600 Incluring 13% GST Find the cost of the coat hefore GST
was added.

25 Tom purchased a cupbaznd for Redd, 800 including GST, IF the cast priteof the cupboard s Rs
21600, Find out how much GST{in %) has been paid,

26 .
Find out the amount to be paid if 18% GST is charged on a camera at Rs28,000.

27 A tradusman allows 3 distount of 158 on the uritres peice. Hesw much ahove the cost price.

must Be ek the gocds to moke s profit of 19%7




28

Hita vttt tex & thog and brought o deess for 389, 200 o hemsel§ dnd Bought trowser for her
Esthner for Rad, 500, 11 G=T was ar all goods at 15% on all purchared grads, hen what i the sl
amipant i higs paid?

The markes price of oo art=cte (3 4000 ano ate of 65T i5.12%. A shopieepar ellpes 2 discount
ol 15% apd il makes = plm_l‘lt af 10, Frd the ariging| price and the s2/ling _;llis:_in'n_h.l&lni G5,

31

Whba #nes Eo thesidp 10 Duy-s box costing As381, Theraie of GST I 5%, She tefly the shop
keaper tor allow 3 disealnt on the price of bok ta suen 2n exiant that saa pays s 981 ncishe ol
GET, Find the dizcount in the priceof the bew

| hought 3 dress st 30N discount an e mariced price bul later on [ sald 1§ an the marked price.
Find out how muth gain | made.

32

A shopieeper wald o washiig machine at a discount of 30% on the marked price of £s28 000
The marked prics Includsd 8% GST, Did g make a proflt or loss and what was s percentage?

33.

If selling price of five pens is equal to the cost poce of four pens,
then for net gain or loss which of the following 15 true?

(A) 20% gain (B) 20% loss

(C) 25% loss (D) 25% gain

aft g T o fEw g AR T F oW g F AUER M, A FE oW
m ¥ & o, e 9 8 s e ae 87

(A)  20% =m9 (B} 208 W

(C) 25% == (D) 25% =Y

34,

Khushi started & business by investing € 4,00,000, During the first
threwe successive yvanrs, ghe oaoneed o profit of 8%, 8% and 12% por
annum respectivaly. After cach year, the profit was addod on the
capital ut the end of the previous venr, Caloslate her total profic
after three years.

HE A 4,00,000 307 F FE0 wh T SO [F S| TN a0 senan
aul F dwE IR @ 6%, 8% e 12% wf =i w e s v
% F um WY T eE W % Im % UeT 9 =0 T 5 R Wn
THE T WE W OTEN S




35.

The value of & LED sereen which was purchased three vears ago,

deprecintes at 12% per annum. If its present valoe 153 31844, find
the value at which 1t was purchased.

AR = ges wEE T8 e LED = & qew 129 ufa g w1 w8 3
W # Ak e A 9 31044 F B A W §es A Sian A
REal - =i T |

“During the DNwall Mela, varlous gtalls are arranged, with ene
prominont ptall showeasing o wide range of candlas™

A shoplesper in selllng packets contalning 10 candles at the rote
af ¥ 300 per packel whersas eost price ol each candle i © 25,

Besed on the above mnformation. answer the following questions :
1v Find the profit on sach eandle,
2 Caleulate the profit on esch packet,
G IF number of candles in each packet is reduced by £, keeping
this same S then fiod the profit % esarned on each andle,
OR

O the st day of Maels, membesr ol candles inosaeh packet
is increased by 2, keeping the some S.P then (o the profit
or loss % onoeach candle,




A Henl Estute dovelopir i lannching o new residentinl project,
‘Green Wood Cligy”, fenturing 2 BHE, 3 BHK aond 4 BHEK Nats

Detaili sire given as Bllows

CP. per Giain % or | S, per
Siee Calegory e loss fak
Sik-1 4000} 2 BHK TAODOOGN | 15% gein _
w
FRIE R [ 1 BHK T 50 00 _ B0, D
wy IV
1802 A 00 4 BHE T a0nN0000 | — T 65, 00,000
= L

Bisid on the above infurmution. answer the followimg questions :
i1y Find the selling priee of 02 BHE Moy,
2y Determmme the gam S oon eale of eoe 3 BHE fst

4y I AR of the cosi price of o 3 BHR Moj s utilized for iin
interiod decoralion and it is sold for T 6500000, ten Rnd the
galn %,

OR

Find the gain % on selling one 1 BHE Oat 17 be gald one Nut
of each type, then determine the total amoewnt of profic
earnoed.

ET

Navesn selld apples to his customers at the cost price itsell and
uses @ weight of 800 g instead of 1 lg weight. His gain% will he

TEE AYE UEE F 4 959 W O¥ ¥4 99m 7 dEa 1 e awH
W AW BO0 MR OEE §1 SN wA T 2ws s whnm e
(A) 925% (B) 20%

(C)  15% (I 3%




QUESTION BANK
CHAPTER: MENSURATION

SINO. QUESTIONS
1. (a) If the volume of a cube 1s 0.000001 cm”. Find 1ts length of each
edge.
OR
(b) The area of a trapezium 15 125m®. Find the sum of its paralle!
sides if its height 1z dm.
[2022-23]

2. How many faces and edges does a tetrahedron have? [2022-23]

3. Two cubes of side 4 cm are fixed together. Find the volume of the
new solid formed.  [2022-23]

4, (a) If the length of each edge of a cube 1s doubled, how many times
does 1ts volume become? How manv times does 1ts surface area
become?

OR
(b)The volume of a solid nght circular cvlinder 15 448mem® and
height is 7 em Find its total surface area.  [2022-3]

5. Vrwre was o Db peara Gty o e smpend s epecnnn ASCH, The sesdeno of e loaiiny, woidi the

prerdis bt (ot wensierried ntlribisy des aded o lepes the Lend mised cossiveet |t diin 2 grens s aluiiily
Laes: pliaby. fuste] samml] loes Vend st ot 1 he St oo dfaed pungnled Sictes S8 wand LIC 0 Cloe Tapid s 1240 sl
2K wearspesively and tee s parsllel ssies AT and BE we ol egel legthowhich i 10w The Pars s
dividesd e three peets by divecing beo shdpud=s AF 10l BF
Amaed mp the sheve mfvrmation, ooyser the Mllawing goestinm (vmy fonr):
L What 15 the prgometer of the pek?
i) Fm (R éftm 1) AN ol T
m Wit a4 the= bemgile af DXEY
) K6 (1) # i i = ey (A 10
T WAk fa ik ik o0 thie adible ol e vopestom A BCTY
L) 1fm e &m &) 10 m (i fiom
v, Whnt b the torel area of the rangmloe portams?
in) 2Rer! (g 36 wag? (T s0T AL A=
V. Whatlatha pren afthe masezim ARCER
i) WAl mE (e 2™ ferdaem® () 200wt
[2022-23]

B. The number of faces a tetrahedron has [2023-24]
A) 14 B) 12 C)& D) 4

7. To over-come the scarcity of water in a village, the villagsers decided

to dig awell 20 m deep with diameter 7 m_The sarth removed 15
spread uniformly to form a platform 22m by 14 m. The raised
platform was later used for panchavat meetings and other noble

CAUsESs.




| Based on the above information answer

the following questions:
1) Find the volume of earth that was dug

ot
A)3080m? B)38Im? )y TTI0m®

D) 15340 m?
11) What 15 the height of the platform.
A)3dm Bi25m C) I0m DY75m

1) If the radius of a cylinder 1s halved, what is the resultant change 1n

s volume?

OR
The volume of a cylinder 15 15307 cu. em and 1ts height ts 6 cm, then
| find 1ts total surface area. [2023-24]
B. | Find the area of a trapezium whose parallel sides are 24 cm and 20 em
_ | and the distance between them 1s 15 em. [2023- 7'4]
: § | The diameter of the base of a right curcular oy ltndﬁr 154 2 dm and fs
height 12 1 dm Find the corved surfacearea in cm”™
OR
A rectangular piece of paper 15 22 cm in length and 10 cm i width Tt
15 rolled into a cvlinder along its length Find the curved surface area
_ | and volume of this cylinder._ [202324]
10. The total surface area of cylinder with diameter of base 3 cm and
height 30 cm will be [2024-25]
(a) 510.7 cm> (b) 610 cm?
() 505 em* (d)511lem”
11, The number of faces of a tetrahedron 15 [2024-25]
(a) 14 (b) 12
() 6 (d) 4
12, -: Assertion (A): A square prism has 6 faces, 8 vertices and 12 edges
Reason (R): In a 3D polvhedron. F—E +V =2
(a) Both Assertion (A) and Reason (R) are true and Reason is the
correct explanation of Assertion(A).
{(b) Both Assertion (A) and Reason (R)s are true but Reason 15 not the
cormrect explanation of Assertion (A).
(c) Assertion (A) 1s true but Reason (R) 15 falsa.
| (d) Assertion (A) 15 false but Reason (R) 1s true [2024-25]
13. The length of a roller 18 40 cm and 1tz diameter 15 21 em: It takes 300

complete revolutions to move once over to level the floor of a room.

Find the arsa of the floor of the room in m~.

Hence find the cost of polishing the floor at the rate of Rs. 17 per m”,
OR




The curved surface area of a cvlindrical pillar 15 264 m® and its
volume is 924 m?® Find the diamster and the height of the pillar
[2024-25]

14,

A square plot was lving vacant in the locality. The children of that
locality requested the plot ovwner to allow them touse tas a
plavground, the owneragreed. The plot was to be levelled and fenced.
The total cost of levelling at the rate of T13 per square metre was
19440. The children were very happy to get a playvground.

Based on the above information answer the following queston:
(1) Find the area of the plot.

(11)Find the side of the playeround.
(1i1)Emd the cost of fencing the plaveround at the rate of T 22 per
metre. OR

(11) Find the square root of 36 by repeated subtraction method
[2024-23]

Pk =

Anup after retirement thought to stay tn village's house. After going
there he found there was shortape of water mm village, so he thought of
constructing a well. He hired some labourers and guided them that
well should be 7m in diameter and 20m deep.

Based on the above information answer the following questions:




1) What 1s the shape of the well? i
1) What will be the radius of the well? 1
11} What will be the volume of the earth dug out? 2
_ OR

111) What will be the inner surface area of the well? [2024-25]

16 What I the area ef traperium whode tis parailel ddes are 10 6m and 12 em and holght i dem? 1
Aoy’ b)4dom® o) 4Ben d| #Eem’

17 What Is the volume af a cuboid whose dimension are Somx 3cm x 2em? i
a)24cm’  bp@6rem® o) 30em’  d)i7em’

18 The total surface area of cylinder with diameter of base Scm and helght 20 cm will be 1
ai510.7 om’ bj10em’  ¢) 50Sem’  d)S1liem’

19 Two cubes have their valume in the ratio 1:8. Find the ratio of their surface areas | 1
a)1:4 b)7 -4 ol 1:8 d)5 13

20 Three cubies whose edges are 3em, Som and Som respectively melted without any loss of metal 1
Inta sirgle cube. Thae adge of new cube
b bleem @ em e o

71 ¥ (dinjral ¥ sum of aRitades demsn oo the diztonal From other twa veetlees] s the farmsala of 1
arisy
aliropesium bt leleral Livguae, Jjrectangle

22 If length of side of a cube Is doubled then volume of the cube will I

a)increase b)decrease cjremain same d)8 times

23 The surface area of four walls of the room s 1
alixbxh bjperimeter of floor x height  cjet’  djnone

24 IFthe radiug of vwo cylindar is sama and helght of and eylinder £ double of the other eylinder 1
than ratio of thedr volume i
aj1:r  Mj3v4 )57 A12LS

25 The name of the given solid (s 1
al trangutar pyraimid bjrectanguiar pyramid
o) rectangllar prism d} triangular prism

26 Find tne arca af tropexiom with oane 15cm and haight 8 cm, iF the £ide parabis! to the given baco r]
s By lang

27 Find the height of a trapezium , the sum of the lengths of whose bases|paraitel sides) |s 60cm | 2
and whose area Is 600 cm®

| Find the sum of engths of the bases of tranesium whose area s 42m and whoss height is 280 7
¢m.

24 The area of the tropezium & 105em and Ity height is 7em, IF ane of parallel sides 4 longer than 5
nther by Gom. Fino the two paraiel sides.

30 The area of atrapogium 5334 e’ e paraliel sides s In the ratko 305 and the parpendicolar 2

distanre between them w1 2om, Find the lenpth of each one of the paralie) sides




31

Mahan wants to buy trapezium field ts dlde along the river bs parallel and twice the side along
the road. If thie area 6f thisfield iz 10500m" nd parpendicular distanee batwsan tha twd
parallel sides $00m. Find the length of side along the nwer,

Tha porallel sides of a trapeaiim are A0ee and 20cm. If ts noe-paral'el sides are bath egual,
each oeing 26cm. find the area of the trapazium.

33

The area of 2 trapesduen with equal non- paralial sides i 1ERM° I the lenpths of peralte) ddes
are 36m 2nd 20m, find the length of the non- parale! sides

ELS

Find the area of the follnwing field .All dimensians are in metres

L L]
I =
"=

P
. - T

' I"'

Fird tha arsa-af polyigon AE‘IIEF, AL = Tem, All= 14 ¢m, AP= 10 em, AN =Bem, AM =4 em,
and FN, EF, OC ane BN are perpendiculans o dsgonal AD.
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7

Ar acpunrium 15 i the farm of Cubiid whisse external measures 80om x &0 om & 40cm. The
bttom, side faces and back taces are 1o be covered with & gaper. Find the arez of paper @ be
nesded.

Thé pain in & certaln centaimer 1§ sifficieet o printan area sgusl to 8 375m?, How many bricks
messunng 2250 by 106 by 7.50m can be painted oul of ths contEiner !
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Three equal cubes are placed adiacently in a-row. Find the ratio of total surface area of the new
cuboid to the wrface area of 3 cubes.
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An gricultural field isin form of 3 rectangie of length 20 m and width 14m. A pit 6m lang, 3m
wide and 2.5m deep & dig In the cornes of the finld and sarth takon outof pitisspread
unifortnly over the remalning area of field. Find the extant to which level of feld has been

A swimming peoi is 20m iong. 15m wide and 3m deep, Find the cost of repairing the flaor and
wall g Lhe rate of Ra25 per squars metre,

Find the number of bricks measuring 25 tm « 12.Som « 7.5cm that are required to tonstruct &
wall fim iong, S high &m 05m thick, while the cementano sand mixturs gcoupies 120 of
valume af the wall

Find tha capacity of water tank, in litres, whose dimens|ons are £2m, 3mand 1.8m?

External dimensions of a closed wonden box are in the rafi 5:4.3, if the cost of painting s
outersurfacs at tha rate of RS der dm’ls Re11, 750 Find the dimensinns of the bax

Find the valume of cubeif surface area |s 294sg. cm

GIE & &

Find the volume of cube if one face of it has area 144 sq.cm




a6 Volume of a cube is 3375 cubic cm, Find its total surface area.
AT In & temipla thars ar= 25 cylindrical piliars. The radlis of eszh pillar 15 28em and bzight dm. Fiad
the cast of painting curved surface area of pillars at the rate of fsB perm®
a8 A restangular theel of paper 240m « 18 am s rolied glong its kength and & oylinder is lormed.
Find the mdius and corved surface area of the oyfindar.
45 The diameter ofa roderis 120 om, 'ength is 84 em. 110 2320500 complete reualutions 1o level
the ground. Find the area of the play ground,
50 Twe cyiinder cans have baes of the same size. Tho diameter of each is 14cm.One of the cans &
Liem high and the ether is 20 cm high, Find the ratio of thelr volume.
51 The radius and height of a-cylinder are in the ratio 3:2 and its volume is 19,4040 Find its
radius and heighl
52 The capacity of a closegd l:‘fl|h¢|l"l:.:li wesse of height 1m ls 15,41 How many square metres of
metal sheet should be neésded (o make 17
53 A hollow zorden roller of 42cm diametar and length 1520m s made of cait iron 2.cm thick. Find
the velume af iron lsed In the rollar
54 The radii of 2 right circular cylinder are in the ratio 223 and thelr heights in the ratio 5 - 4,
Calculate the ratio of thair curved surdace zreas and alsa ratio of their volumes.
55 Can a polyhedron have forits faces 1) 3 triangles 1) a square and 4 triangles.
56 Using Fuler's Tormula find the unknown
Faces T 13 20
Vartices B ? 12
Edges 1 ] 7
57 How many faces, edges and vertices does a triangular prism have?
58 The aren of 0 rectangle is numerienlly equal to e perimeter. I the
length s B em, then its width is ¢
Tw S0 W AETE AEme w8 3Ee Y o oaner §) s s
1 e 6 AL B oW w SEn §-
(A # om (B 1A em
(¢ 24 em i 6 em
59 The height of & solid G‘{"Tl der whose radius is 7 em and the totsl
nurface arca is 968 am® is :
T AW TEE w1 wwr feaw G 0w dW wm U= SRS UGN
W
A 1D um By 17 em
0y 19 em (0 21 em
60 A cuboidal carton with dimensions 36 ¢m x 20 cm = 30 em is

completely filled with 100 identical rubik's cubes Find the longth
of the side of each robik’s cube.

36 em ¥ 20 ¢m x 30 em GET TE 94, TH OS99 100 FER 99 8 gh
TE WA AW B VESh Eews W9 W 9 F R d| wiean
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The circumferonce of the base of o evlindrieal o3l container is Ba
cur, The height of the eylindrical contuiner is same as the diameler
of the base. How much oil ean the evlindrical container hold?

T AATER TH FEW F AT ST A g ¥ wmen Fen S
FaE IO AME F SO o WUW #) FEdeen wew § fEen dwm 20

b2 Find the area of the shaded region in the figure given below:.
A4 f ME st W BWTEA WP W AR A i)
I JLE ST
F
A O \ B
]
]
L]
1
I
|
|
i
|
|
|
I
D E C
I 36 em {
B3

Ankur, 8 student of class VI loves watching and playving with
birds of differant, kinde. One day, he had an ides to make an open
bird bath in his gerden. His breother who is studving in class X
helped him o choose the materinl and shaps of the bird bath, They

hoth made o ouboidal bird hath of inner dimensions 24 cm = 20 em
#* 0 em with terrocota tiles of thicknoss 1 e

Subseguently, they were molivated and made a nwumbar of bird
baths,
®

Based on the above information, answor the fallowing questions :

fi:  The total sarface area rvequired to paint & bird bath from
inside i :

(fi)  Find the outer dimensions of the bird bath.

it} How mony such bird baths can be completely filled with 19.2
Htres of wather ?

OR

Find the volume of the material wsed in making one hird

hath
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The lateral surface area of o cube whose side measares L5 om s
wh W TamEsd g 0.6 w2 W wF geE dwe 3

(A} 0.25 em® Bl 0125 em”

iC1 15 em? D1 em®

A mug in the form of & right eireular evlinder i three-fourth full
of water. If the hase radins of the mug is 3.5 cm and its height
iz 8 ¢m, then how much woter 15 there in the mug 7

UF wE g0 9EA O OUWN F WO 34 W o § osm #1 A o
& s w1 G an ad @ et e sdt ® @ oam A fee
G 4

&6
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In an eco-club activity, students were asked to make a cuboidal
shaped pen holder vsing waste cardboard with dimensions 10 em =
Bem x 12 em. Find the area of the cardboard used by the students
to moke 30 such pen holders,

U v wer 9 afoRfeEd ool w10 S x B9, < 12 9l
aFE IEN RIZEiE o FWEP FER UE UENEN % UW Beed @qE @ e
HE TN A T W 0T VAR T T Al W oW o s
m ward w5 s S S

Hem weter which falls on n puboidal roof of length 6 m and breadth
4 m ig transferred into a cvlinderieal tank of internal radius 50 em,
What will be the height of water in the cylindericnl tank if the
rainfall is 2 cm 7

6 HIE FEE T 4 Wi WER S TR SYsT 9E WO 9 o= oW
T H 50 W, A e T UF IeWen iF § veEmie G wm
3 oAz A 2EEL B W GeER 4w 9 URD R SR w0 R

In o School Math Exlibition, students of class VIII put ap 5 tables
showing different shapes made with ¥ Tangrem pisess, (See figure
1), Btudents asked the visitors to solve some questions related to
area and perimetoy of the fipurs forried by tongram piccss One
such figore iz shown in Aigure 2.

(Figure, not to scale)
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Now hased on the information, shown in the figures, nnswer (he
following questions |

FIGURE 2




(i} PFind the ares of the triangle ormed by juning pleces | and
2 of tangram. (Helor fg 2)

(i) Find the perimeter of the triangle formed by joining pieces
1 and 2 of tangram. (Reler fig. )

(i) Find the area of trapezivm PORS formoed by joining picec 3
and T oof tsngrem, (Reler fig, 23

OR
Find the perimoter of Rectangle ABCD,

EEFIEFTETFTFTITETEETTEXTEETEE




